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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before you -——-—-- to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute ~————- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—--- --- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used ---------- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a ----—-- -- matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -~=aeaeeee for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to ------- --
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—-—-—- . said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
~=——-—-—- dictionary,
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—-—-- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) =s=essaees the desired crop relatively unharmed.
Some of these act by interfering with (12) ——eeeemee- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) ==m======= all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems. and management of areas (14)
------- as wildlife habitat.

Some plants produce natural herbicides. (135) ==emmea=- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill



14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

The 2nd century Greek physician Galen proposed that nerves convey fluid secreted by
the brain and spinal cord to the body’s periphery. His views dominated Western
medicine until the microscope revealed the true structure of the cells in nervous tissue.
Even so, nervous tissue did not become the subject of a special science until the late
1800s. when the Italian Camillo Golgi and the Spaniard Santiago Ramoén vy Cajal
produced detailed. accurate descriptions of nerve cells. Golgi developed a method of
staining neurons with silver salts that revealed their entire cell structure under the
microscope. He could see clearly that each neuron typically has a cell body and two
types of processes: branching dendrites at one end and a long, cable-like axon at the
other. Using Golgi’s technique, Ramdn y Cajal discovered that nervous tissue is not a
syncytium, a continuous web of elements, but a network of discrete cells. In the course
of this work Ramon y Cajal developed some of the key concepts and much of the early
evidence for the neuron doctrine—the principle that individual neurons are the
elementary building blocks and signaling elements of the nervous system.

16- In what area was Galen an expert?
1} Physics 2) Medicine 3) Neuroscience 4) Greek language
17- Which of the following is true about the nervous system in Galen’s opinion?
1) It is not a syncytium,
2) It is a net of separate cells.
3) It is a continuous web of elements.
4) It 1s not an uninterrupted tissue of components.
18- For how long was Galen’s opinion dominant in the Western medicine?
1) It did not take much time.
2) For a very long time almost about one hundred years.
3) Until the time that microscope structure was discovered.
4) Till the time that the accurate organization of the neurons was discovered by
the microscope.
19- How did Golgi help to elucidate the uncertain issue of the nervous system?
1) He discovered the entire nervous system as a continuous web of elements.
2) By developing a technique of staining neuronal tissues.
3) Using Ramon y Cajal’s technique. Golgi discovered that nervous tissue is a
syneytium,
4) Golgi established the method of using silver nanoparticles in samiple preparation



20- How did Ramon y Cajal develop the key concepts and much of the early
evidence for the neuron doctrine?
1) By means of Golgi’s technique
2) By the whole Golgis concepts and thoughts
3) By the fact that nervous tissue was a syncytium
4) By Golgi's suggestions regarding building blocks and signaling elements of
the nervous system.

PASSAGE 2:

Perhaps the best examples to examine in the current context are humans’ closest
primate relatives. the chimpanzees — especially with regard to tool use and gestural
communication the two behaviors for which cultural transmission has been most often
claimed. First. there are a number of population-specific tool-use traditions that have
been documented for different chimpanzee communities, for example termite-fishing,
ant-fishing, ant-dipping. nut-cracking. and leaf-sponging. Sometimes the "same"
tradition even shows variability between groups. For instance. members of the Kasakela
community at Gombe (as well as some other groups elsewhere) fish for termites by
probing termite mounds with small. thin sticks. whereas in other parts of Africa there
are chimpanzees who perforate termite mounds with large sticks and attempt to scoop
up the insects by the handful. One possible explanation is that the chimpanzees in the
Western parts of Africa are able to destroy termite mounds with large sticks because the
mounds are soft from much rain. whereas in the east theyv cannot use this strategy
because the mounds are too hard. Each individual thus reinvents the wheel for itself.
with population differences due to the different local ecologies of the different groups
so called environmental shaping.

21- What does the word "relatives" in line 2 refer to?

| ) Humans 2) Primates 3) Examples 4) Chimpanzees
22- Which are the behaviors for which cultural transmission has been most often
claimed?
) Tool-use traditions 2) Cultural transmissions
3} The current contexts in humans 4) Tool use and gestural communication

23- In the phrases “termite-fishing” and *“ant-fishing” what does the word
“fishing” mean?

1) EZating fish 2) Infectious fish
3) Searching or seeking 4) Parasites of the fish
24- Where are the chimpanzees encountered by much rain?
|} In the termite mounds 2) In other parts of Africa
3) In the Eastern parts of Africa 4) In the Western parts of Africa

25- What does “environmental shaping” in the last line refer to?
1} Population differences due to the different local ecologies of the different groups.
2) The specific shape of termite mounds due to the environmental factors.
3) Population ditferences of termites. fish. ants and chimpanzees.
4) Population differences due to the softness of the mounds.



PASSAGE 3:

Programmed cell death in animals usually. but not exclusively. occurs by apoptosis
(from the Greek word meaning “falling off.” as leaves from a tree). Although apoptosis
is only one form of programmed cell death, it is by far the most common and best
understood, and. confusingly. biologists often use the terms programmed cell death and
apoptosis  interchangeably. Cells dyving by apoptosis undergo characteristic
morphological changes. They shrink and condense. the cytoskeleton collapses. the
nuclear envelope disassembles. and the nuclear chromatin condenses and breaks up into
fragments. The cell surface often blebs and. if the cell is large, often breaks up into
membrane-enclosed fragments called apoptotic bodies. Most importantly. the surface of
the cell or apoptotic bodies becomes chemically altered. so that a neighboring cell or a
macrophage (a specialized phagocytic cell) rapidly engulfs them. before they can spill
their contents. In this way, the cell dies neatly and is rapidly cleared away. without
causing a damaging inflammatory response. Because the cells are eaten and digested so
quickly, there are usually few dead cells to be seen, even when large numbers of cells
have died by apoptosis. This is probably why biclogists overlooked apoptosis for many
vears and still probably underestimate its extent.

26- What does the word Greek in line 2 refer to?

1) Where the researches come from 2) The Greek language
3) The synonym for apoptosis 4) Where the research was conducted
27- By using the word “only” in line 3, what issue was expressed?
1) The confusing process 2) The most common process
3) The best understood process 4) The procedure of programmed cell death

28- What are called apoptotic bodies?
1) The membrane-enclosed fragments of the large cell dying by apoptosis
2) The characteristic morphological changes
3) The shrunk and condensed whole cells
4) The nuclear envelope disassemblage
29- What happens to the surface of the cell or apoptotic bodies?
1) It spills the cell contents 2) It breaks up into fragments
3) It becomes chemically altered 4) It rapidly engulfs the cell
30- Why are there usually few dead cells to be observed, even when large
numbers of cells have died by apoptosis?
1) Because the surface of the cells becomes chemically altered.
2) Because they are quickly cleared away.
3) Because the dead cells cause a damaging inflammatory response.
4) Because biologists have overlooked apoptosis for many years,
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